EARAZROREIERT — 2 N—XBISY —F 2013%E3H6R (k) 18EAFH3H

IR >%—#% C2A+11 (xwlw | mEmml - |5 5 w8
[A&4] 1 7% :1,000,000  ~ 23 :300,000 . 33:180,000  ~ 4 #:120,000 @ .~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. r = o4 | BBXE 1:44.7 - — — 3 456 | BRAZTRZ (V)
117111 =8 ETUT 1 56.0 (-) (-6) ’I"I'Fii.—
Y- B:T—-hTFAT KIS
_ = . _ _ | El
M 7 ETR ST w4 | 5T e Sl = o O
R:Z2XpvR B:T7CETEY b VAN ¢
3l5lg|vvE—PHL b wo U i B T A A s Sapk M
L:T7IWhtEy b B X—-FT—-2 R4S
RILLFFEaT BIAIU—F1F (B) #B3-KL—>a>BETF
5 3 2H4Fb—O— 4 4 i%ﬁh 1:(4253.3 - — - 7 (4_7“8; g%éﬂiﬁék#)
RTIRAFTEIN B8 /EyTx—L4A EvilLy RT7—L
6 o | ¥¥>TO- it 4 éﬁsz 1(745t>3 - - - 8 430 Egzﬂé (XH)
QRE—YLIO-Z B RESOAU— 42 15F ax
d : B At els # o4 | FER it - - = | 9| am ?f(;“i)?kf_/(#/céf)
R:Zxv> B:A-L>Y—N—FK (-3) 3 o=l
- A — 1 - B N (=
glg|1a| F1Tv¥= # 5 | BH-E NGB o | HEHE O
LB YIT RV BV x A TAhT [ 18K
o4 | FEER 1:45.7 - - - 2 523 | RITIR (KFH)
o|8|13) 17N 6.0 (1 1/2) Ly |BAEX
RiO=YZA A B:F4TLAS A &

# o6 | WikEL 1:45.8 = — | — | 5 | 490 |BAESR CKH)
Eam R=THL Ko — 56.0 (172) s |2EF

LAY E—Y B:IFI/ILHLR HFASZREy K
S “ - t> 5 | Bk 1:45.9 - - - 13 | 475 |1EBESE (KH)
10111 A4 3IVILF 56.0 (7€) +2) FE—%&
x4 37FI Ry BiXA4230T7vR FH BE
8 A 5 | BHAE 1:46.1 - - - 1 420 |FEFEE (KH)
EH 4 ST T 56.0 (1 1/4) -2) LEmE—
L7 Rvq4¥av—> B A4V aq FHE%S
Son L =s o4 | WHEX 1:46.7 - - — 14 461 | BEBK (KFH)
1317112 T T 56.0 (3) (-6) 3RS
R:rh—r B:TVrERO-7> P Tie]
S = IIZARHRAT : = = = YEITAZ (/i)
14 2|y hEZT T — " 4 2540 1('34/%8 2 (::(2)) EHE= \
R:VZRB—IZZZ— B 2KRILL YA 785
® 1—F—@EBIERL
1T=7r= 2,3,7,4,14,6,9,11,(5,8,12) ,13,10,1
2a=5F= 2,3,4,7,14,6,11,12,9,8,13,5,10,1
== (2,3),4,13,14,(6,7),8,(9,11),12,5,(1,10)
43—F— (2,3),(4,13),(6,7),(8,9,11,14) ,5,12,1,10

ABICOVWTRDTEEERROODE. TR LIV,



